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SIN45°=0.70711 tan40°50'25"=0.8644 8in(2-j5)=67.479 + 30.87% cos%=0.86603
sin{30°,45°,60°}={0.5, 0.70711, 0.86603} secd5°=1.4142 cosecd5°=1.4142 cotd5°=1
O~ & F, WHKOIE
GP T o2 oy SinT0.2=11°32113" sin” (2-31)=0.57065 - 1.98341 C0OS™0.2=1.3694
4 4 ARCSIN0.2=0.20136 sin”' {0.2,0.3,0.4}={0.20136, 0.30469, 0.41152}
Je R it A5 B 4K

sinh0.5=0.5211 sech(0.5-21)=-1.0552 + 1.06551% TANH{0.5,0.6,0.7}={0.46212, 0.53705, 0.60437}
O~ &R, W ORLIE

sinh?0.5=0.27154 arcsech(0.5-21)=0.45718 + 1.46431 COTH{5,6,7}=1{0.20273, 0.16824, 0.14384}
Yo 6 H B
# PR logl=0  log7i=0.8451 + 0.68219i  LOGI10=1 log{2,3,4}={0.30103, 0.47712, 0.60206}
EESE In1=0 Inj5=1.6094 + 1.5708i LNe =1 n{2,3,4}={0.69315, 1.0986, 1.3863}
i % H log,10=2.3026  log,(3-4i)=2.3219 - 1.3378i log/58=6  log,l0=1  LOGe=1

K et BA%  ©5IEUE 1 kot
A=1{460,468,477,459,472,426,441,426,442,494,476,457,458,463,428,400,318} Al =17 A=445
sum(A) =7565 min(A) =318 var(A) =1618.3 varp(A) =1523.1  stdev(A) =40.227 stdevp(A) =39.026
average(460,468,477,459,472)=467.2  {460,468,477,459,472}=467.2 median(460,468,477,459,472)=468
454 B84 (normdist,norminv,chi2inv,chi2dist,tdist, tinv,fdist,finv)

18 A 45 B B 8 B %% (cov,covp,cov_matrix,covp _matrix,corr,corr_matrix,var,varp)

* A~ LB
1,(-0.5)=0.93847  1,(0.5)=0.93847 Iy {5.6,7})=1{-0.1776, 0.15065, 0.30008} 1,(1)=0.44005
Y (0.5)=-0.44452 Y ,(5)=0.14786  1,({7,8,9})={-0.30142, -0.11299, 0.14485} Y ,(0.1)=-127.64

TO7zydasd LR E e

14(-51)=27.24 Ty({1,-24,0.3})={0.7652, 2.2796, 0.97763}
HY (1.55)=0.24453 - 0.89218i  HY (1.50)=1.1674  HY ({1,-2i})={0.0024766 - 33.278i, 0.10146 - 1.398i}

HY (1.50)=-0.67567 - 0.371570  15(2-1.59)=-0.24389 - 0.274861  K,( {1.5,-24})={0.58366, -0.96982 - 0.554231}

s # 58 BH TR B A
R(3-5)=3  RQ+HNH=2  I(3-50)=-5 ITQ+HN=T  arg3-50)=-1.0304  3F=3+5i 21j7=2-f7

5 Bk B 2k

T(0.5=1.7725  T(1+0.5)=0.80169 - 0.19964i  T'({2,3,4})=11,2, 6}

B(3,5)=0.0095238  B(3,50)=-0.0079576 + 0.012202i  B({2,3},15,6.1})=1{0.033333, 0.0057011}

Py(5)=305  P,(3-50)=245-45i  P,({5,6,7)={2641,5535.375, 10321}  H(0)=1  H({1,0,1})={0, 1, 1}
erf{0.8)=0.7421  erfc({0.5,0.6,0.7})={0.4795, 0.39614, 0.3222}  erfc™'({0.4795, 0.39614, 0.3222})={0.5, 0.6, 0.7}
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Hy(5)=940  L,(3-5))=46.167-23.333i L¥({5,6,7})=1{4.3334, 7.2, 4.3167}

T,(5)=485  T,(3-50)=-5023+7920i  U,(3-5)=-10111+15720i  U({5.6,7})={96030, 241960, 526890}
Si(5)=1.5499 Ci(1-9)=0.88217 - 0.287251 E,({0.5,1.4,3})={0.16524, 0.052064, 0.007665}

PY(5)=1.5061 ¥({0.4,1.5,3})=1{-2.5614, 0.03649, 0.92278} ((41.5,2.4,3})=1{2.6124, 1.3833, 1.2021}




v(1.2,2)=0.75079  T'(2+3,2)=-0.25175 - 0.043059i P({1-3,0.5,2.1},2)={0.94595 + 0.24341, 0.9545, 0.56465}
Q(1.2,2)=0.1823 B,(1.2,3)=0.096253 I,(11,2,3},10.3,1.2,2.3})={0.064752, 0.051298, 0.035243}

* 5 1 BE %k | Favzydat LB E#EE

sn(0.8,0.65)=0.69506 sn(5+1.754,0.5)=-1.8853 - 0.030777i cn(4+1.754,0.65)=-1.3326 + 3.1699i
dn(0.5,0.6)=0.95885 dn({0.7,1.756,4+1.24},0.7)={0.89931, 8.9061, 1.406 - 0.50214%}

ns(0.7,0.65)=1.5938 ns(5+1.74,0.65)=-0.63276 + 0.032827% ne(2+1.54,0.35)=-0.17087 + 0.526714
nd( {3.7,4.751,4+1.8i},0.65)={1.0027, -0.80993, 0.14364 + 0.42652i} am(0.4+6.75,0.25)=0.39935
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MMM K(0.3791)=1.6323 K(x/2.5+1)=1.1551 + 0.95285i K(0)=1.570796326795
B FESEeFEMAE S E(0.5)=1.4675 E(y/3+2.51)=1.1997 - 1.3571i E(1)=1
B oFEsEeFEMAES  11(0.8,0.9)=5.9821 I1(0.4,0.6+21)=1.2117 + 0.19136i  TI1(0.8,1)=co
WSS F(0.3,0.8)=0.3029 F(0.3 ;0.8 )=0.30773 F(0.310.5)=0.30103
B SEeMEMAEY  E(0.3,0.5)=0.29889 E(0.3 ;0.5 )=0.30353 E(0.3 0.5 )=0.29898
RRATERMBY H<% ;%,m>=0.66873 H(% ;%|0.3>=0.66873 11(-0.7 0.6 0.5 )=0.56567
* F DD AT L EIE
[100.235]=101 [-100.235]=-100 1100.235|=100 |-100.235 |=-101
GCD(901, 1649, 1037) = 17 LCM(90, 16, 10)=720  mod(10,9)=1 divmod(10,9)={1, 1}
sort({901,1649,1037,200,4105,87,941}) ={87, 200, 901, 941, 1037, 1649, 4105}
reverse({901,1649,1037,200}) = {200, 1037, 1649, 901} delta(1,2)=0 5
pow(2,0.5=1.4142  sqrt(2)=1.4142  exp(2.0)=7.3891 sign(1)=1 C=10  P,=120 <3>:10
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ratio(1.2,2.4)={1, 2} ratio(12,15)={4, 5} enumerate_prime_number(1,5)={2, 3, 5, 7, 11}
213(%,1;% ;0.5>:1.24645048028047 wgEgy | FAvzvoar LERERE |
(2+31) =-2880 - 810i Ryknv—i 8
*ATH] - BlFI - 3% BEE D B
create_array(p)={{1, 2, 3}, {4, 5, 6}, {7, 8, 9}} create_matrix({{1, 2}, {4, 5}}):<411 g >
12 3 2 1 3 20 4 50
20 4 50 . |4 20 50 . 123
B= 36 6 matrix_column change(B,1,2)= 6 3 6 matrix_row_change(B,1,2)= 36 6
4 8 7 8 4 7 4 8 7
Sheet5
KOTH - I OTG
==> table row(Sheet5)=3
table column(Sheet5)=4 )
1 2 3 -0.5667 -0.3333 -0.1000 0.1333  0.3667 3
N A'=|-0.0667 0.0333 0 0.0333 00667 | , _|,
_ .y
15 & 0.4333  0.2667 0.1000 -0.0667 -0.2333 S| s fromn L
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56 1 - rank(m, 107%)=3 FHOT 7 (2T, B e 5 R & )
m: el
0 -1 0 0
-1 1 -1 0 trace(m)=9 175 Dt FI
34 2 1 4
=0 S0 0 5| sizem=4,5) (PRI LTI
11 -1 0 3
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4
dim((2 6 -1 -1 5))=5
dim| | § | |4 o )
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dim((2,3,4))=3

4
vector _61 =4,6,-1,1) vector((-2 6 -1 -1 5))=(-2,6,-1,-1,5)
1
* AT HIEE OB
3 2 2 4 0.65461 0.14857 -0.44721 0.59111
26 11 . ~ 044844 084764 0 028358
M=\ 5 g o cigen(m)={8.50525,6.1563, -1, -1.66155}, | (35731 07428 0.89443 0.29555
4 1 2 3 051308 050391 0  -0.69486
(IR 1 )
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poly(m)=A*120>+150*+115,+87 (FFHIDE A L ER)

0655 0.149 0591 0447\ /-0.655 0.149 -0.591 -0.447
- 0.448 0.848 0284 0 0.448 0.848 0284 0
svd(m)=) {8.505, 6.156, 1.662, 1}, | 5377 0074 0296 -0.894|°|-0327 0.074 -0296 0.894
0513 0504 -0695 0 0513 0504 0.695 0
T
10 3 6 1
M1 o o
3 5 6 8 jD?I‘V“/EIT)bHﬁBEEﬁﬁE
10 0 o /1 0 0 0
~ 21 0 ol [0 4 5 3
LUM)= UL 33 | 10 -0.75 1 0olo 0 975 325
3125 -0.025641026 1) \0 0 0 43333333
-0.936586  0.338886  0.0880585 -0.0144533\ /-10.6771 0.65561 -8.24196 -3.74634
Revnl| 0187317 0585575 0375114 0.69376 0 -7.04061 -531254 -7.30848
QRM)=| 00936586 -0.00872133 -0.889044 0448054 || 0 0 0920384 -0.764647
0280976 -0.73633  -0.247256  -0.56368 0 0 0 244261

Jordan(M)={ {-0.758663579, 2.04564872},

-0.523437392  -0.236643489
-0.499923498  -0.609584926
0.689946646  -0.115681391
-0.00796356754  0.747679004




